Stoichiometry #1

When you go home for the first time your freshman year you are expecting an extravagant meal, because after all, the dorm food is just not the same as your family’s good cookin’!  When you go home there is a note on the table that says that YOU have to cook dinner… and you have to cook it for your entire extended family!!!  She leaves you 30 boxes of spidey-man Kraft mac’n’cheese and ¼ gallon of milk and a box of stick butter.  The back of the box calls for a tablespoon of butter and three tablespoons of milk.  You get done cooking, and noticed that you couldn’t make all of the boxes of mac’n’cheese.  What was the limiting reagent?  How much of the other two ingredients do you have left? (1 gallon = 256 tablespoons, a box of butter = 5 sticks which have 8 tablespoons each).
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